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QUESTION 1

Which two properties can be set to read a fixed width sequential file in parallel? (Choose two.) 

A. Set Read Method to "File Pattern". 

B. Set the Execution mode to "Parallel". 

C. Set the "Read from Multiple Nodes" optional property to a value greater than 1. 

D. Set the "Number of Readers Per Node" optional property to a value greater than 1. 

Correct Answer: CD 

 

QUESTION 2

In the job fragment shown in the exhibit, there are two Sort stages: the first (Sort1) sorts the data by state, the second
(Sort2) sorts the data by state and area, No repartitioning occurs between the stages. You have been asked to reduce
the number of sorts to improve the performance of the job. 

Which two ways might be used to accomplish this without changing how the job functions? (Select two) 

A. Remove the second Sort stage. Add area as an additional sort key. 

B. Remove the first Sort stage. Retain the existing sort keys in the second Sort stage. 

C. In the second Sort stage change the Sort Mode property of the area column to "Don\\'t sort, previously sorted.". 

D. In the second Sort stage change the Sort Mode property of the state column to "Don\\'t sort, previously sorted.". 

Correct Answer: BC 

 

 

QUESTION 3

A client has multiple servers connected with a high bandwidth switch and has installed DataStage on one of them.
There are five files (with the same record layout) that must be retrieved from three other servers using FTP. Which
approach will retrieve and process all five files in the minimal amount of time? 

A. Use a single FTP Enterprise stage and specify five URI properties (one for each file). Next,process the records
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without landing to disk. 

B. In a single job,use five separate FTP Enterprise stages with output links to a single Sort Funnel stage. Next,process
the records withoutlanding to disk. 

C. In a single job,use three separate FTP Enterprise stages (one for each machine) with output links to a single Sort
Funnel stage. Next,processthe records without landing to disk. 

D. Create a sequence containing five separate DataStage jobs which each retrieve a single file and append it to a
common Data Set. Next,process the resulting Data Set in an sixth DataStage job. 

Correct Answer: A 

 

QUESTION 4

A star schema data warehouse consists of four dimension tables and one fact table. How many Slowly Changing
Dimensions (SCD) stages will you need in your jobs to update the star schema tables? 

A. two 

B. three 

C. four 

D. five 

Correct Answer: C 

 

QUESTION 5

Which two statements are true for named node pools? (Select two) 

A. Using appropriately named node pools is only available in clustered environments. 

B. Using appropriately named node pools allow the separation of buffering from sorting disks. 

C. Using appropriately named node pools force DataStage jobs to use named pipes between stages. 

D. Named node pools are required for DataStage jobs to scale across multiple machines on a grid or cluster. 

E. Using appropriately named node pool constraints limit stages to be executed only on the nodes defined in the node
pools. 

Correct Answer: BE 
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